
IG

samsara.com/support

INSTALL GUIDE

Directional Multi-band
Antenna Installation

SW5 Plat Washer x 4

Articulation Pole x 1 Articulation Bone x 1 T-form Bracket x 1 W-Bar x 1 Stainless Hose 
Clamp x2

W5 Plat Washer x 4

M5 Nut x 4

M8x40 Screw Bolts x 1

W8 Plat Washer x 1

SW8 Spring Washer x 1

M8 Nut x 1

M8x40 Screw Bolts x 1

W8 Plat Washer x 1

SW8 Spring Washer x 1

M8 Nut x 1

M6x60 Screw Bolts x2

W6 Plat Washer x 2

SW6 Spring Washer x 2

SCREW PACK 1NUT PACK SCREW PACK 2



EN

FR

ES

EN

FR

ES

Assemble the Articulation Pole onto Antenna

Put the articulation pole to back of antenna plate with M5 Nut, W5 Plat 
washer and SW5 spring washers (Nut pack).

Mount for Pole 1.5~2” (38.1~50.8mm)

Assemble the T-form Bracket and the W-bar 
to the pole as shown in the above, then use 
M6x60 bolts, spring washer and washer to 
fix the mounting kit onto the pole. 

The diameter of the Pole
Pole diameter  Max: 2.1” (53.3mm)
 Min: 1.0” (25.4mm)

Increase the tighten strength 
parallelly.

Mount for Pole 1-9/16~2-1/2” 
(40~63.5mm)

Fix the T-form Bracket to the pole with the 
stainless hose clamp.

1

1a 1b

samsara.com/support 2

1.5” (38.1mm)

a

b

2” (50.8mm)

a

b



EN

FR

ES

EN

FR

ES

Assemble Articulation Bone and T-form Bracket

Fix the Articulation Bone to the T-form Bracket with M8x40 bolts, nut, 
spring washer and washer. 

Install Articulation Pole with the T-form Bracket and 
Articulation Bone

Fix the Articulation Pole to the Ariculation Bone with M8x40 bolts, 
nut, spring washer and washer. 

2

3

samsara.com/support 3


